



Name: _____

Date: _____ Score: _____

$$(3 + \frac{2}{3})^2 - \frac{1}{3} + 5^2 \times \frac{1}{4} =$$

$$((\frac{3}{5})^2 - \frac{1}{3}) \times \frac{1}{2} + (\frac{3}{2} - \frac{1}{2})^2 =$$

$$(\frac{1}{2} - \frac{1}{6})^2 - \frac{3}{4}(\frac{1}{3} - \frac{2}{3}) =$$

$$((\frac{1}{2})^2 + \frac{2}{5}) \times \frac{3}{4} + (\frac{1}{2} + \frac{3}{4})^2 =$$

$$(5 - \frac{2}{3})^2 - \frac{1}{3} \times \frac{2}{3} - 3^2 =$$

$$(\frac{1}{2} + (\frac{1}{2})^2) \times \frac{1}{3} + (\frac{1}{2} - \frac{1}{3})^2 =$$

$$(\frac{1}{5} - \frac{1}{3})^2 - \frac{1}{3}(\frac{3}{5} - (\frac{3}{4})^2) =$$

$$((\frac{2}{5})^2 - \frac{2}{3}) \times \frac{1}{2} + (\frac{1}{2} + \frac{1}{5})^2 =$$

$$((\frac{3}{4})^2 - \frac{1}{6}) \times \frac{2}{5} - (\frac{1}{6} + \frac{1}{2})^2 =$$

$$(4 + \frac{3}{2})^2 + \frac{1}{6} + \frac{1}{3} - 4^2 =$$



Name: _____

Date: _____ Score: _____

$$(3 + \frac{2}{3})^2 - \frac{1}{3} + 5^2 \times \frac{1}{4} = \frac{697}{36} = 19\frac{13}{36}$$

$$((\frac{3}{5})^2 - \frac{1}{3}) \times \frac{1}{2} + (\frac{3}{2} - \frac{1}{2})^2 = \frac{76}{75} = 1\frac{1}{75}$$

$$(\frac{1}{2} - \frac{1}{6})^2 - \frac{3}{4}(\frac{1}{3} - \frac{2}{3}) = \frac{13}{36}$$

$$((\frac{1}{2})^2 + \frac{2}{5}) \times \frac{3}{4} + (\frac{1}{2} + \frac{3}{4})^2 = \frac{41}{20} = 2\frac{1}{20}$$

$$(5 - \frac{2}{3})^2 - \frac{1}{3} \times \frac{2}{3} - 3^2 = \frac{86}{9} = 9\frac{5}{9}$$

$$(\frac{1}{2} + (\frac{1}{2})^2) \times \frac{1}{3} + (\frac{1}{2} - \frac{1}{3})^2 = \frac{5}{18}$$

$$(\frac{1}{5} - \frac{1}{3})^2 - \frac{1}{3}(\frac{3}{5} - (\frac{3}{4})^2) = \frac{19}{3600}$$

$$((\frac{2}{5})^2 - \frac{2}{3}) \times \frac{1}{2} + (\frac{1}{2} + \frac{1}{5})^2 = \frac{71}{300}$$

$$((\frac{3}{4})^2 - \frac{1}{6}) \times \frac{2}{5} - (\frac{1}{6} + \frac{1}{2})^2 = (-\frac{103}{360})$$

$$(4 + \frac{3}{2})^2 + \frac{1}{6} + \frac{1}{3} - 4^2 = \frac{59}{4} = 14\frac{3}{4}$$